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sa|utat| 51,410 | 44,638 512,780 | 467,549
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- = 20.12% '20.1~ 128
- > = £ ¢ * & = 9
Medz 106 (-2.4) 14 (-40)| 1,112 (-144)| 161 (-17.4)
M F AL 117 (14| 156  (-64)| 1,141 (-26.1)| 1652 (-19.6)
5 =2 546 (-72)) 209 (188)| 5330 (-233)| 2399 (11.9)
MR = 346 (29.1)| 947 (-05)| 3658 (154)| 12018 (-5.6)
A 1,115 (2.9 | 1,327 (1.3)| 11,242 (-13.2) | 16,230 (-5.3)
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‘20.12 20.1~12% '20.12% ‘20.1~12¢
M oA 1,115 (29| 11,242 (-132) | & A | 1,327 (1.3) | 16230 (-5.3)
H| E = 261 (7.1)] 2354 (-184)| & = 553 2.6) | 6,550 (0.1)
= 2| 157 (63| 1636 (-1.6)| HIEL | 289 (-27)| 4025 (-10.6)
ol = 135 (17.3) | 1,427 (0.4) | O|ef 2] 89 (14.8) 831 (-0.3)
ol 73 (27)| 689 (245 | Y = 45 (-2.0)| 481 (-10.4)
o 2| 71 (214 779 (282 Y 44 (-11.7)| 710 (-17.1)
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2 = 2~ ol

T T = | =u8 zq | zzg | AT
2015 14,490 -10.0 14,305 -0.6 +185
Ab 7,290 -0.8 6,372 2.0 +018
5t 7,200 ~10.1 7,933 27 -733
2016 13,807 4.7 14,507 1.4 ~700
Ab 6,805 6.7 6,439 1.1 +366
5t 7,002 27 8,068 1.7 ~1,066
2017 13,742 -0.5 15,194 4.7 ~1,452
Ab 6,838 0.5 6,847 6.3 -9
5t 6,905 ~1.4 8,347 35 ~1,442
2018 14,080 25 17,141 12.8 -3,061
A 7174 4.9 7,710 12.6 ~536
5t 6,906 0.0 9,431 13.0 -2 525
2019 12,959 -8.0 17,130 -0.1 ~4171
1< 1,136 -35 1,577 124 ~441
P 934 5.1 1,054 -12.3 ~120
3e 1,087 -11.9 1,395 7.3 -308
42 1,168 -6.0 1,406 4.8 -238
5% 1,226 4.0 1,165 -4.9 +61
62 1,065 ~15.4 1,173 -5.2 -108
7< 1,143 6.6 1,569 10.7 -426
gl 957 -13.2 1,705 5.8 ~748
ol 956 -5.9 1,819 9.7 -863
10 1,113 -6.9 1,689 -14.9 -576
11 1,089 -12.3 1,269 -14.0 -180
12% 1,084 -3.6 1,309 1.7 ~225
2020 11,242 -13.2 16,230 -5.3 -4.988
12 990 -12.9 1,424 -97 -434
o2 1,112 19.0 970 -8.0 +142
32 987 -9.1 1,455 4.2 ~467
42 751 -35.7 1,188 -15.5 -437
5 683 -44.3 1,013 -13.0 -330
62 822 228 1,280 9.1 ~458
7< 971 ~15.1 1,473 6.1 ~502
g2 790 -17.5 1,554 -8.8 ~764
ogl 1,064 11.3 1,720 -5.4 ~657
10 937 -15.8 1,569 ~7.1 ~632
11 1,020 6.4 1,257 -0.9 ~237
128 1,115 2.9 1,327 1.3 -211
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